DEORE SIDE SWING Front Derailleur

FD-M5100 ct1speca)

E-type

Middle clamp band type

=

ITEM SHIMANO
NO. CODE NO. DESCRIPTION

1 Y5S898020 Cable Fixing Screw Unit (M6 x 9.2)
Y5R198020 Stroke Adjust Screws (M4 x 8) & Plate
Y5ZB98010 Chain Catcher Unit
Y5RC08000 Rubber Pad B
Y5S8415000 Clamp Screw (M6 x 14.5)
Y5S5207000 Clamp Screw (M5 x 18.5)

o g wiN

May-2020-4673
© Shimano Inc. T

Specifications are subject to change without notice.

SHIMANO ¢ & &)

quefairedemesdechets.fr




